4 I
Addition up to 10

\(using number line)
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[ Solution: ]

[ Example 1 : ] 3+4=7

Mark 3 on the number line

v

A

1

O 1 2 3 4 5 6 7

Move 4 steps forward

2 3 4

v

A

I 1 R "

O 1 2 3 4 5 6 7

Now3+4=7

10

U\

E—

Solution: |

Example 2 : ] 1+5="7

Mark 1 on the number line

v

A

1

2

O 1 2 3 4 5 6 7

Move 5 steps forward

3 4 5

8 9

10

v

A

I A}

T

L) N I

O 1 2 3 4 5 6 7

Nowl+5=6

8 9

10
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\W
Example3:] 0+8="?
[ Solution: ]
Mark 0 on the number line
4_‘ T T T T T T T T T T >
O 1 2 3 4 5 6 7 8 9 10
Move 8 steps forward
1 2 3 4 5 6 7 8
O 1 2 3 4 5 6 7 8 9 10
K Now0+8=8 /
q Example4:] 3+3="? \
| Solution: |
Mark 3 on the number line
< T T T ‘ T T T T T T T >
O 1 2 3 4 5 6 7 8 9 10
Move 3 steps forward
1 2 3
O 1 2 3 4 5 6 7 8 9 10
Now3+3=6
LK /J
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[ Solution: ]

Example 5 : ] 6+4=">

Mark 6 on the number line

v

P
<«

1 2 3 4 5 6 7

Move 4 steps forward

1 2 3 4

8 9

I I I I I I /Wv\l\

v

A

0

1 2 3 4 5 6 7 8 9

Now 6 +4 =10

U\

Example 6 : ] 2+5=7?

E—

Solution: |

Mark 2 on the number line

v

A

1

‘IIIII
2 3 4 5 6 7

Move 5 steps forward

1 2 3 4 5

8 9

10

v

A

1

I r R 1 R

2 3 4 5 6 7
Now2+5=7

8 9

10

04

www.kooracademy.com

) (=)



	Slide 1
	Slide 2
	Slide 3
	Slide 4

